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1 8/1 |=HAHE ®BH 67 i 3 50 | [X2hig 5H
2 8/1 |=HAHE ®BH 67 i 3 50 | [X2hig 5H
3 8/1 |=HAHE B 67 i 3 50 | [ZShig 5H
4 8/1 |=HAREIl &% 67 i:3 6 46 | [FThHi 4R
5 8/1 |=HAREIl &% 67 iic3 6 48 | [FThi 4R
6 8/2 | /NRET L1 64 i 42 | 48 | [ZThi 3B
7 8/2 | /NRET L1 64 i 47 52 | [XThig 3B
8 8/2 | /NRET L1 64 i 49 50 | [XShig 3B
9 8/2 |=BHAHE| ®&EH 67 T 3 50 | [X2hig 48
10 | 8/2 |=BAE| @R 67 T 3 50 | [X2hig 48
11 8/2 |=HAE @B 67 it 3 50 | [X2hig 48
12 | 8/8 |=BAE #H 67 i:3 3 50 | [XShig 5H
13 | 8/12 |=BAHET| #EH 67 i:3 3 50 | [Z2hig 48
14 | 8/16 | /NgHAT LAV 67 i3 3 53 | 1&Th#ix 3H
15 | 8/16 | /IN#HT (VN 67 i 25 50 | [Z2hig 38
16 | 8/17 | /INmHT Bi5 67 i 2 45 | [XThig 5H
17 | 8/17 | /INgHT Bi5 67 i 18 | 43 | [ZThig 5H
18 | 8/19 | /INEHAT Ak 66 i3 1 40 | [FThi 20
19 | 8/21 | /NEAT Ak 66 1 18 | 45 | [XTh%H 20
20 | 8/23 | /INHET =] 67 i:3 4.2 52 | [XThig 4R
21 | 8/23 | /INHET =] 67 i3 38 50 | [X2hig 48
22 | 8/23 | /IMEHT FiE 66 1 8 80 | [XIhix 108
23 | 8/23 | /IMEHT FiE 66 i 8 80 | [XIhix 108
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